



Calcola quale numero risolve correttamente entrambe le equazioni.

Risposte

1) _____ + 10 = 13
13 - 10 = _____

2) _____ + 4 = 19
19 - 4 = _____

3) _____ + 1 = 5
5 - 1 = _____

4) _____ + 6 = 9
9 - 6 = _____

5) _____ + 10 = 14
14 - 10 = _____

6) _____ + 2 = 20
20 - 2 = _____

7) _____ + 6 = 14
14 - 6 = _____

8) _____ + 3 = 20
20 - 3 = _____

9) _____ + 14 = 17
17 - 14 = _____

10) _____ + 2 = 19
19 - 2 = _____

11) _____ + 1 = 13
13 - 1 = _____

12) _____ + 7 = 14
14 - 7 = _____

13) _____ + 1 = 18
18 - 1 = _____

14) _____ + 15 = 18
18 - 15 = _____

15) _____ + 3 = 19
19 - 3 = _____

16) _____ + 4 = 6
6 - 4 = _____

17) _____ + 13 = 17
17 - 13 = _____

18) _____ + 7 = 12
12 - 7 = _____

19) _____ + 7 = 15
15 - 7 = _____

20) _____ + 11 = 14
14 - 11 = _____

1. _____

2. _____

3. _____

4. _____

5. _____

6. _____

7. _____

8. _____

9. _____

10. _____

11. _____

12. _____

13. _____

14. _____

15. _____

16. _____

17. _____

18. _____

19. _____

20. _____



Calcola quale numero risolve correttamente entrambe le equazioni.

$$1) \quad \underline{3} + 10 = 13$$

$$13 - 10 = \underline{3}$$

$$2) \quad \underline{15} + 4 = 19$$

$$19 - 4 = \underline{15}$$

$$3) \quad \underline{4} + 1 = 5$$

$$5 - 1 = \underline{4}$$

$$4) \quad \underline{3} + 6 = 9$$

$$9 - 6 = \underline{3}$$

$$5) \quad \underline{4} + 10 = 14$$

$$14 - 10 = \underline{4}$$

$$6) \quad \underline{18} + 2 = 20$$

$$20 - 2 = \underline{18}$$

$$7) \quad \underline{8} + 6 = 14$$

$$14 - 6 = \underline{8}$$

$$8) \quad \underline{17} + 3 = 20$$

$$20 - 3 = \underline{17}$$

$$9) \quad \underline{3} + 14 = 17$$

$$17 - 14 = \underline{3}$$

$$10) \quad \underline{17} + 2 = 19$$

$$19 - 2 = \underline{17}$$

$$11) \quad \underline{12} + 1 = 13$$

$$13 - 1 = \underline{12}$$

$$12) \quad \underline{7} + 7 = 14$$

$$14 - 7 = \underline{7}$$

$$13) \quad \underline{17} + 1 = 18$$

$$18 - 1 = \underline{17}$$

$$14) \quad \underline{3} + 15 = 18$$

$$18 - 15 = \underline{3}$$

$$15) \quad \underline{16} + 3 = 19$$

$$19 - 3 = \underline{16}$$

$$16) \quad \underline{2} + 4 = 6$$

$$6 - 4 = \underline{2}$$

$$17) \quad \underline{4} + 13 = 17$$

$$17 - 13 = \underline{4}$$

$$18) \quad \underline{5} + 7 = 12$$

$$12 - 7 = \underline{5}$$

$$19) \quad \underline{8} + 7 = 15$$

$$15 - 7 = \underline{8}$$

$$20) \quad \underline{3} + 11 = 14$$

$$14 - 11 = \underline{3}$$

Risposte1. 32. 153. 44. 35. 46. 187. 88. 179. 310. 1711. 1212. 713. 1714. 315. 1616. 217. 418. 519. 820. 3